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/OAB = /OBA, /OAC = /OCA °|B2 &
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.. ZOBC + £OCB = 180° — 130° = 50°
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1
A 17F aABC O YA o, /BIC =90° + §AA°]E]'.

A 17F Al YzZhe] o] 5B 0] w-o|2& /ABC = /ABI = 25°
ojrt.

AF7+e o] Yzhe] 9h2 180°0]| B & /BIC = 180°-30°—25° =
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AAOC oA 1OAC = /OCA , ZAOC+ /OAC+ /OCA = 180°
, LOCA = 35°
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£OAB = /OBA, /OBC = /0CB, tOAC = /OCA°|E=Z
£OAB + £0OBC + £OAC = 90°
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B4 L =C
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B C
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. /OBI = /OBC - /IBC = 50° — 35° = 15°

ofl




oF& 193 o] aABC ©f 9141 0 9 W4l 1 7 AF|she Tgelet,
822 A9 P WR AEE ALY
A
<>
T
B C

AABC 9] Q)43 Y4lo] L) wofl AABC = ()],
/BOC = ( )° o]t}
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® 110° @100° ® 105° @ 95°
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L{OAB = /OBA, /OBC = /0CB, £OAC = /OCA°|E=Z
LOAB + /OBC + £/OCA =90°
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2 2

= 52° 4 152° = 204°




21. Th& Il A 17 aABC O] WAL T, 1x 4 2y 9] & Fotolet.

> Hehl 65°
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E, AC o} W o] ot e F 2k7 o).
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. X = 2cm
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A

B X 60 C

@® 200° @180° ® 160° @ 140° ® 120°

S8 ~
AABC oA Al Wiz}9] jto] 180°0] B2
20+42x+460°=180°
o+Xx=60°
AZE o] Al WZhe] -2 180°0]1B =
(ADB = /x, /AEB = /y&} o}
AABEOA] 20 4+ x +/x = 180°--- @
AABD A o +2x 44y =180°---@
O+@%E ot¥
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3% 60° 4 (Zx + £y) = 360°
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AABC A /IAB = /IAC = q,

/ABI = /CBI = b2} 574},

2/a+24b+74°=180°

Sola+ Lb=53°

Lx+ Ly = (La+T4°) + (Lb+T4°) = La+ £b+ 148° = 201°




31. o2 1A AABC 2 AADC 9] 42 0 2 5UsHT LABC = 70°
o o, /ADC 9] A27]E oozt
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0
70°
B C
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> ®EHD 110°
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/AOC = 2/ABC = 140°

L/OAD =a,/,0CD=b211 3}, 0D & 1°H /D=a+b
oAOCD A4, ZOAD + /ADC + /DCO + £COA = 360° ,
360° = 140°+-a+b+a+b = 140°4+2(a+b) , a+b = /ADC =
110°
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A Ie HHelBEr

/BAD = /CAD = /x, /ABE = /CBE = zy 2} 5}H
AABC A 2/x + 22y 4+ 50° = 180°,

SoLx+ Ly =65°

(ADB = /C + £/CAD =50° + /x

(AEB = /C + £/CBE =50° + 2y

. L/ADB + /AEB = 100° + /x + £y = 165°
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AABC o] A T= WAL ™, 2x+ 29 2 A
717

T 2"
B Z2Aq

@ 190° @ 191° ® 192° @ 194° @198°

B ~

AABC YA /IAB = /IAC = q,

/ABI = /CBI = bz} 514}

2/a+2/b+72°=180°

o la+ /b =54°

(x+ 2y = (La+T72°) + (Lb+T72°) = La+ /b + 144° = 198°
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oS A A 1 AABC Y YAo]l1l AB = 8cm, BC =
10cm, AC = 15cm @ o], AABC 2] Ho]} AAIC 9] Ho]2] =9

D 2:1 @ 30:17 @ 32:15

RE e WAE AolE rem o 5

(AABCO] Hlo]) = —x r x(8 + 10 + 15) = % r (cm?)

N =

(AAICE] Hlo]) = %x rx15 = ? r (cm?)

w2kA] AABC : AAIC = ?r: 1—25r =33:15 o]tk
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36. TFe ol A 1= aABC ¢ UAlolct. o] o, BD o] o] x
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H 17y A2 o] YAlol22 AD = AF,BE = BD,CE = CF
o|t}.
BD=x=BE°/PE2CE=18-x=CF, AD = 16 — x = AF
o|tt.

AC=AF+CF=18-x+16-x=12

sox=11(cm)
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BI & 1°W H 1+ H4el=2= /DBI = /ABC
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38. tha IHI E2 AAY ABCD oA F 92 2k AABC, AACD
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~&B

AE & x @ 59

(I5—x) + (6 —x) =13 .. x = 4(cm)
AE = CF = 4(cm) °|E&

~EF =15-(4+4) = 7(cm)




39. o2 2HAAM AF Yo = H 0o et H 1= zH7 o] 51
o] @A, YyAlo|t} /BAC = 74° , AD = CD € o, /x 9] 27|&
T-5HH?
A
74°
D
1
O
B F C

@® 62° @ 62.5° ® 63° (@)63.5O ® 64°

B

LACB = /ABC = %(180" —74°) = 53°

(ACI = %AACB = % X 53° = 26.5°

o2tA ACDE oA zx = 90° — ZACI = 90° — 26.5°
olc}.

= 63.5°




40. th 1A H O = AABC 9] 940t} /ACB = 30°, /OCB =
20° ¢ o, /B o] 37|E F5toi=h

B

20°
30° C

> Hehl 40°

AOAC o4 OA = OC o|2 &2

LOAC = /OCA = 50°

AOBC |4 OB = OC o|2&

/OBC = /OCB = 20°

AOBA o4 OB = OA o|2&

/OBA = /OAB =x+20°

AABC °f|A

/A + /ABC 4 /ACB = x4+ 70° + x 4+ 30° = 180°
. x=40°




41. o2 oA H 0= AABC 9] @JAoltt. /BAO = 25°, /OBC =
32°d o, LAOC & Z27]=?

A
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® 100° @ 112° @114° @ 116° ® 118°

OA = OB = 0C, /ABO =25°, /B = 57°
. LAOC =114°




42. o2 IHNA AABC & C = 90° QI A Z}Arzr ot}
20cm, BC = 16em, CA = 12cm ©]2 & 1 7} AABC 2] U4
ATAB ¢] Ylo|E “Fotofet,
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AABC o] Y49 H2] 59| ZolE rem 2 31
AABC = %xrx(20+16+12) = 24r
o] o, AABC = % X 16 X 12 = 96(cm?) 0|22

24r =96 .. r = 4(cm)
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43. o2 1A A 1= AABC & Wio ot e vix| &) dolr}t
3cm 0], AABC 9] Hlo]7} 48cm? ¥ W, AABC 9] Ed]9] Zdo|=?

@32cm @ 34cm ® 36cm @ 28cm ® 40cm
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AABC 9] Ed|¢] Zo]& xcm & oFH
AABCZ%XSX)C=48

oo x = 32(cm)




44. o2 3goA H1E H42E ABC 2] WAlelth AB//ID, AC//IE
°]1 AB = 1lcm € W, AIDE 2] £ 9] Zo]&?

11 11
O =cm @ —cm @®)}1lcm

@ 12cm ® 13cm

B «
/ABI = /IBD ©]|1 /ABI = /BID(- AB//ID) ]2 /IBD =
/BID °|t}. = BD =ID

Ze oz /ACI = /ICE ©]1 /ACI = (CIE (.- AC//IE)
o]B2 /ICE = (CIE °|t}.= IE = EC ©|t}.

u}2tA] (AIDE ©] E¢¢] Zo]) =ID +DE +1E = BD + DE +
EC =BC = 11(cm) ©Jtt.




45. T3 29" AABC oA /B=35°,/C=65°°]1, O HI =
212t AABC €] 91413 WAL o, 2x o] 715 Tatele

A

z
I

o O o
B 35 65 C

@D 10° @ 12° 3)15° @ 18° ® 20°

1) /B = 35° o|E&2 /AOC = 70°, ZOAC = %(180" -70°) =
55° . ZLOAC = 55°

ii) ZA = 180°—(35°+65°) = 80° |22 /JAC = %x80° = 40°
/x = LOAC — /TAC = 55° —40° = 15° . /x = 15°




